Math 13900
Supplemental Assignment #22


Please work these problems on a separate piece of paper!  Use the information given in each situation to find two congruent triangles.  Explain why they are congruent.  If you cannot determine whether the triangles are congruent, then state “not necessarily congruent” and give a brief reason why.
1. B is the midpoint of 
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, triangle AEB and BDC are both isosceles triangles, and AE = BD. 
2. 
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 bisects angle TFR.
3. 
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  [Hint: draw a careful diagram of your own.]
5. 
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6. 
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.  Explain why Z is the midpoint of segment WY.
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